2991818

Plan No
E000857/E

Sheet 1/2

Confirmed
19/09/2016
PJ

O

o

T

O

_|_|_L ©
o

g S

(G R t=1 i

L =2

=

< ™

(T Y P

~ |29

< |E|5|®

L DW

DN l

x

=

T

Date
Initials

Scale: 3:20

E000857 / E




E000857 / E

Material

No. Plan Article Quantity No. Plan Article Quantity
1 X000862 1006463 4 14 M8 DIN125 1001556 6
2 X001016 1001682 10 15 M6 DIN985 1001680 12
3 M12 PA6.6 1993362 2 16 M10 DIN985 1001683 2
4 X003403 1617400 2 17 M6x12 1ISO7380 1007000 4
5 X004860 1906817 (40) 1 18 M10x35 ISO7380 1009442 1
X004855 1906741 (45) 1 19 M8x50 1ISO7380 1902483 2
X004887 1906818 (50) 1 20 M8x20 DIN7991 1903136 4
6 X004888 1906839 (40) 1 21 - 1906790 1
X004857 1906740 (45) 1 22 - 1906843 (40) 1
X004889 1906841 (50) 1 1906844 (45) 1
7 Y017988 1774154 1 - 1906845 (50) 1
8 Y018940 1778754 (40) 1 23 - 1990648 2
Y018164 1776654 (45) 1 24 - 1991481 1
Y018361 1778654 (50) 1 25 M8x16 DIN912 1001498 4
9 Y018564 1774200 2 26 - 2993352 1
10 Y017414 1775254 (40) 1 27 M10x45 ISO7380 1908848 1
Y017984 1769754 (45) 1 28 M8x30 I1ISO7380 1992717 2
Y017889 1776054 (50) 1 29 M6x30 DIN7984 1992721 8
11 Y018411 1778354 (40) 1 30 - 1997922 2
Y018368 1778454 (45) 1 31 --- 2990413 2x0,4 m
Y018309 1778554 (50 1 32 - 1906791 1
12 Y019511 1784654 (40) 1 33 - 1906792 1
Y019510 1784754 (45) 1 34 M8x20 ISO7380 1992349 2
Y019512 1784854 (50) 1 35 M8 DIN125 1003199 2
13 Y019513 1784954 (40) 1
Y019509 1785054 (45) 1 @
Y019514 1785154 (50) 1 o)
—_
oo
—_—
Sheet 2/2 co
Plan No.
TIMIX SEAT FRAME GT ELECTRIC
E000857/E
Scale: 3:20 Drafted Verified Confirmed \\\V/’/
Date 25/01/2013 | 19/09/2016 | 19/09/2016
Initials SD SD PJ 000




